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 53 circles in a circle

radius =   0.438256971958
ratio  =   2.281766324292

density  = 0.875242297449
contacts = 72
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N = 54
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 54 circles in a circle

radius =   0.437728873362
ratio  =   2.284519164387

density  = 0.876682508345
contacts = 84
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N = 55
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 55 circles in a circle

radius =   0.437455405609
ratio  =   2.285947292407

density  = 0.879066853401
contacts = 91
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N = 56

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16
17

18

19

20

21

22

23

24

25

26

27

28

29

30
31

32

33
34

35

36
37

38
39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

 56 circles in a circle

radius =   0.437449234459
ratio  =   2.285979540542

density  = 0.882459227306
contacts = 92
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N = 57
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 57 circles in a circle

radius =   0.436960869637
ratio  =   2.288534442069

density  = 0.883839719672
contacts = 80
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N = 58
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 58 circles in a circle

radius =   0.436173677606
ratio  =   2.292664714408

density  = 0.883938214127
contacts = 90
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N = 59
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 59 circles in a circle

radius =   0.435483678315
ratio  =   2.296297312152

density  = 0.884358096583
contacts = 102
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N = 60
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 60 circles in a circle

radius =   0.433556977255
ratio  =   2.306501918920

density  = 0.879682975133
contacts = 93
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N = 61
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 61 circles in a circle

radius =   0.432653272145
ratio  =   2.311319627939

density  = 0.879088248726
contacts = 102
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N = 62
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 62 circles in a circle

radius =   0.431502827822
ratio  =   2.317481915584

density  = 0.877422534878
contacts = 102
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N = 63
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 63 circles in a circle

radius =   0.431258045158
ratio  =   2.318797321527

density  = 0.879379448859
contacts = 93
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N = 64
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 64 circles in a circle

radius =   0.430852418905
ratio  =   2.320980354576

density  = 0.880626527860
contacts = 108
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